

SEPTEMBER '12						
M	T	W	T	F	S	S
					1	2
3	4	5	6	7	8	9
10	11	12	13	14	15	16
17	18	19	20	21	22	23
24	25	26	27	28	29	30

①

Saturday

T.D.C 4th Sem (General)

18-08-2012 - Date

18

231-135 - Days 340 - Week

August

Chemical Kinetics

Integrated rate equation of second order reaction

(a) When the two reactants are of same type.



Let 'a' be the concentration of each reactant to start with and (a-x) their concentration after any time 't'. Then we have

Rate = $\frac{dx}{dt} = k(a-x)^2$

$\Rightarrow \frac{dx}{(a-x)^2} = k dt$

In order to get the value of k, we integrate this expression

$\int \frac{dx}{(a-x)^2} = \int k dt$

$\Rightarrow \frac{1}{a-x} = kt + c$ (constant of integration) \rightarrow ①

when $t=0, x=0$

Substituting these values in the above equation we get $c = \frac{1}{a}$

Putting the value of c in the eqn ①

$\frac{1}{a-x} = kt + \frac{1}{a}$

$\Rightarrow \frac{1}{a-x} - \frac{1}{a} = kt$ or $\frac{a-a+x}{a(a-x)} = \frac{x}{a(a-x)} = kt$

$k = \frac{1}{t} \frac{x}{a(a-x)}$

SEPTEMBER '12						
S	M	T	W	T	F	S
						1
3	4	5	6	7	8	9
10	11	12	13	14	15	16
17	18	19	20	21	22	23
24	25	26	27	28	29	30

(11)

This is known as the $\frac{1}{a-b}$ equation for a 2nd order reaction.

(b) 2nd order reaction when the reactants are different.



Let a and b be the initial concentration of A and B.



At 't' sec $(a-x)$ $(b-x)$ x

where $(a-x)$ and $(b-x)$ are the concentrations of A and B after t sec.

$$\text{Rate} = \frac{dx}{dt} \propto (a-x)(b-x)$$

$$\frac{dx}{dt} = k(a-x)(b-x) \quad [k \text{ is the rate constant}]$$

$$\frac{dx}{(a-x)(b-x)} = k dt \rightarrow \textcircled{1}$$

We have

$$\frac{1}{(a-x)(b-x)} = \frac{1}{(a-b)} \left[\frac{1}{b-x} - \frac{1}{a-x} \right] \quad \left[\text{using Partial fraction} \right]$$

Substituting the value in $\textcircled{1}$ and integration

$$\int \frac{dx}{(a-x)(b-x)} = \frac{1}{a-b} \left[\int \frac{dx}{b-x} - \int \frac{dx}{a-x} \right] = k \int dt$$

$$= \frac{1}{a-b} \left[-\ln(b-x) + \ln(a-x) \right] = kt + C$$

C is the integration constant.

or

$$\frac{1}{(a-b)} \left[\ln \frac{(a-x)}{(b-x)} \right] = kt + C \rightarrow (2)$$

When $t = 0$, $x = 0$

$$\frac{1}{a-b} \left[\ln \frac{a}{b} \right] = C$$

Putting the value of C in Eqnⁿ (2)

$$\frac{1}{a-b} \left[\ln \frac{(a-x)}{(b-x)} \right] = kt + \frac{1}{a-b} \ln \frac{a}{b}$$

$$\frac{1}{a-b} \left[\ln \frac{a-x}{b-x} \right] - \frac{1}{a-b} \ln \frac{a}{b} = kt$$

$$\frac{1}{a-b} \left[\ln \frac{a-x}{b-x} - \ln \frac{a}{b} \right] = kt$$

$$\frac{1}{a-b} \ln \frac{b(a-x)}{a(b-x)} = kt$$

$$\text{or } k = \frac{1}{(a-b)t} \ln \frac{b(a-x)}{a(b-x)}$$

This is the integrated rate equation for 2nd order reaction when $a \neq b$ & $a > b$.

For 2nd order reaction
Unit of k (rate constant)

$$k = \text{time}^{-1} \text{conc}^{-1}$$

$$= \text{min}^{-1} (\text{mol/Litre})^{-1}$$

$$= \text{min}^{-1} \text{mol}^{-1} \text{Litre}$$